HRBALTE R F DI B ALIR;

(B BAlfRER)
IS £ ) ih & 3 $EEs

N— SO | i | doomE | KEik | oma | PR

A B c D B+C+D=E E/A

ERNE-REFERBBRESE 50,403 27,771 4,631 3,596 35,998 71.4%
/v 26,612 12,997 3,401 2,607 19,005 71.4%

FhooaL 23,791 14,774 1,230 989 16,993 71.4%

& -1EERBERIERS 2,236 1,128 165 64 1,357 60.7%
/v 1,657 778 126 48 952 57.5%

A3 579 350 39 16 405 69.9%

[EEREEEA PR (R IEER 26,231 18,581 1,042 431 20,054 76.5%
/v 3,511 2,244 486 110 2,840 80.9%

i 22,720 16,337 556 321 17,214 75.8%

ZRBHEREE 67,351 59,813 1,109 514 61,436 91.2%
/v 9,154 7,071 433 208 7,712 84.2%

A3 58,197 52,742 676 306 53,724 92.3%

HtEEA RS 5 146,221 107,293 6,947 4,605 118,845 81.3%
/v 40,934 23,090 4,446 2,973 30,509 74.5%

FhooaL 105,287 84,203 2,501 1,632 88,336 83.9%
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R SHE | mmomm | momm | e [PRAORE] BEE

A B C D B+C+D=E E/A

ERYN%-RERERG 50,403 27,771 4,631 3,596 35,998 71.4%
VNV 26,612 12,997 3,401 2,607 19,005 71.4%

FAIL 23,791 14,774 1,230 989 16,993 71.4%

3R 159 97 8 5 110} 69.2%
/NN 12 5 2 0 7 58.3%

FhIL 147 92 6 5 103 70.1%

BFE R 313 141 31 19 191 61.0%
/YA 174 62 24 7 93 53.4%

FAIL 139 79 7 12 98 70.5%
REEEER 1,586 863 115 87 1,065 67.2%
VNV 112 57 27 9 93 83.0%

FhIL 1,474 806 88 78 972 65.9%
REMHKA 220 107 30 23 160] 72.7%
VNV 220 107 30 23 160] 72.7%

FLIL — — — — — —
}’;‘;igﬁﬁﬁ_ﬁ 121 73 20 6 99 81.8%
VNV 121 73 20 6 99 81.8%

FLIL — — — — — —
F1TEBNEER 446 307 18 20 345 77.4%
/YA 287 194 15 15 224 78.0%

FLIL 159 113 3 5 121 76.1%
F2MEBNEEER 23 14 1 0 15 65.2%
NNV 5 5 0 0 5 100.0%

FLIL 18 9 1 0 10] 55.6%

REFR 25,434 12,534 2,902 1,733 17,169 67.5%
VNV 11,458 4,551 1,960 1,025 7,536 65.8%

FAIL 13,976 7,983 942 708 9,633 68.9%
Egﬁﬁglﬁﬁ%ﬁﬁ 104 63 7 2 72 69.2%
VNV 24 15 6 1 22 91.7%

FLIL 80 48 1 1 50} 62.5%
REBIXIERE 296 131 52 29 212 71.6%
VNV 271 119 52 29 200] 73.8%

FhIL 25 12 0 12 48.0%
REREXIEtVS 56 38 42 75.0%
/YA — - — — — —

FhIL 56 38 3 1 42 75.0%




" S57LA%  |BIBDREN| HEF - " -
e > T2 TP 32
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A B C D B+C+D=E E/A

i NFEERFR 45 31 5 2 38 84.4%

IN3L 45 31 5 2 38 84.4%

FAIT - — — — — —

m ANFEERFT— B 0

L 45 31 7 1 39 86.7%

N3 45 31 7 1 39 86.7%

FhIL — — — - — —

wmANRENEER 67 32 11 3 46 68.7%

N3L 40 25 8 0 33 82.5%

FAIT 27 7 3 3 13 48.1%
REELEHR(RE#

E ) 4,189 2,608 399 198 3,205 76.5%

/NAYA 3,991 2478 389 195 3,062 76.7%

FAST 198 130 10 3 143 72.2%

BFEitt 32— 41 21 4 5 30] 73.2%

NV 35 20 4 5 29 82.9%

Fh3L 6 1 0 0 1 16.7%

BFARELZ2— 2 1 0 0 1 50.0%

YA 1 1 0 0 1 100.0%

Fh3T 1 0 0 0 ol 0.0%

BFERELI— 28 10 1 0 11 39.3%

/NAYA 28 10 1 0 11 39.3%

FAIT — — — — — —

B8 B BB ER 21 8 7 3 18 85.7%

= A

/NAYA 6 0 5 0 5 83.3%

FhIT 15 8 2 3 13 86.7%

~NEMRERT 433 266 12 10 288 66.5%

N3T 423 262 11 10 283 66.9%

AL 10 4 1 0 5 50.0%

REBIAETIEY \

ey 54 35 1 2 38 70.4%

YA - - - — — —

Fh3L 54 35 1 2 38 70.4%

INRREEERRES ,

EE R 66 46 0 0 46 69.7%

NV - — - — — —

3L 66 46 0 0 46 69.7%
FETHED-OHD

e 2,615 1,755 229 143 2,127 81.3%

NV 1,806 1,122 209 131 1,462 81.0%

Fh3T 809 633 20 12 665 82.2%
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f R SR | mrom | moas | apek |[PRFORE] BRI

A B C D B+C+D=E E/A

gig%ﬁ%‘%igﬁk 8,869 4,666 676 1,242 6,584 74.2%
IA3L 7,460 3,796 621 1,146 5,563 74.6%

FAIL 1,409 870 55 96 1,021 72.5%

A MR B R 5,170 3,893 92 62 4,047 78.3%
A3 48 33 5 2 40] 83.3%

FhIL 5,122 3,860 87 60 4,007 78.2%
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N SHY | o | g SEE. mExoms| mmis

A B C D B+C+D=E E/A

tt=-{EHEE 2,236 1,128 165 64 1,357 60.7%
AL 1,657 778 126 48 952 57.5%

FAIL 579 350 39 16 405 69.9%
REETRER 392 220 52 15 287 73.2%
A3 100 51 23 10 84 84.0%

FhIL 292 169 29 5 203 69.5%

B 27 12 8 3 23 85.2%
ARV 25 10 8 3 21 84.0%

FhIL 2 2 0 0 2 100.0%
IREEER 28 10 0 1 11 39.3%
NIL 10 4 0 0 4 40.0%

FAIL 18 6 0 1 7 38.9%

B TR i E% 17 5 0 7 12 70.6%
AL 10 3 0 7 10] 100.0%

FAIL 7 2 0 0 2 28.6%
HEEXRIZERS 92 45 3 4 52 56.5%
/ALY 65 35 3 2 40| 61.5%

FAIL 27 10 0 2 12 44.4%

B {REE 892 322 82 19 423 47.4%
ARV 892 322 82 19 423 47.4%

FAIL — — — — — —

4EEE 168 62 4 1 67 39.9%
AL 168 62 4 1 67 39.9%

FAIL — — — — — —
j;;;‘fxgﬁiﬁ 27 24 0 1 25 92.6%
AL 27 24 0 1 25 92.6%

FAL — — — — — —
NEMRBIRALEE 52 4 0 0 4 7.7%
/ALY 52 4 0 0 4 7.7%

FAIL — — — — = —
HhigtEat 22— 310 264 6 5 275 88.7%
N1 294 251 6 5 262 89.1%

FAIL 16 13 0 0 13 81.3%
HEEUETER R 46 35 1 2 38 82.6%
VAN 5 5 0 0 5 100.0%

FAIL 41 30 1 2 33 80.5%
NEBEUTERIERS 185 125 9 6 140] 75.7%
AL 9 7 0 0 7 77.8%

FAIL 176 118 9 6 133 75.6%
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A B C D B+C+D=E E/A
[E=EF R me =P Et 26,231 18,581 1,042 431 20,054 76.5%
NIT 3,511 2,244 486 110 2,840} 80.9%
FAIT 22,720 16,337 556 321 17,214 75.8%
BEEERUAY—EX \
£ 8,237 6,233 214 122 6,569 79.7%
N3T 987 712 84 40 836 84.7%
FhIT 7,250 5,521 130 82 5,733 79.1%
EEE IR
(EENEXTEIIEE 2,092 1,470 176 53 1,699 81.2%
T54DIZRS)
NIT 320 185 65 6 256 80.0%
FhIL 1,772 1,285 111 47 1,443 81.4%
EEE IERE
CEE A 353 240 12 9 261 73.9%
VYA 89 62 4 4 70] 78.7%
3L 264 178 191 72.3%
HEEFNE-HRE
fﬁsﬁgﬂmgaﬁﬁﬁm 2,064 1,659 27 22 1,708 82.8%
4)
N3T 35 24 1 4 29 82.9%
FAIT 2,029 1,635 26 18 1,679 82.8%
HEEFNE-HE 0
A (1 S ) 5,108 3,164 82 37 3,283 64.3%
NV 148 104 6 3 113 76.4%
FAIT 4,960 3,060 76 34 3,170} 63.9%
HEESMERER 13 8 0 0 8 61.5%
NI 10 5 0 0 5 50.0%
Fh3L 3 3 0 0 3 100.0%
SEXIEMEER 8 8 0 0 8 100.0%
NIT — — — — — —
3L 8 8 0 0 8 100.0%
RFRELE 65 37 8 3 48 73.8%
NIT 40 22 8 2 32 80.0%
FA3L 25 15 0 1 16 64.0%
FEREEEER ,
12 1 s 20 33 27 3 1 31 93.9%
N3T 24 21 2 1 24 100.0%
AL 9 6 1 0 7 77.8%




" S57LUfE  |BIEOWEMN| WUERE - " -
e N S T4 32
ﬁﬁ%ﬁii‘:ﬂ é*ﬁi& Eﬁ@*ﬁ*ﬂ UL‘*ﬁﬁ Eﬂﬂ%q:‘%l mﬁ&;ﬁ@*ﬁﬁ ﬁ'ﬂT/E’fbi
A B C D B+C+D=E E/A
BREEERAEER
TEEDRATEH
EZEAFSEDLD 32 18 4 3 25 78.1%
(HEESHREERE
IEEIER)
N3T 17 11 3 0 14 82.4%
Fh3L 15 7 1 1 73.3%
)Xz r== §n_,
(Effﬁf‘jf)% BENERK 44 16 12 2 30 68.2%
NIT 14 9 4 1 14 100.0%
FAIT 30 7 1 16 53.3%
BREEEEERR 298 226 32 3 261 87.6%
/NAYA 37 13 20 1 34 91.9%
FhIL 261 213 12 2 227 87.0%
|3z == 337 g
aﬁfﬁ%ﬁfﬂﬁ& 184 77 28 14 119 64.7%
N3T 13 1 5 6 46.2%
FAIT 171 76 23 14 113 66.1%
2 3, =L
fg;’f?g‘ ERIRERR 201 156 10 4 170 84.6%
N3T 47 31 5 3 39 83.0%
FAIL 154 125 5 1 131 85.1%
k Xz == =
f&ﬁg‘ ERELEMER 1,543 1,081 95 29 1,205 78.1%
VYA 203 106 49 5 160 78.8%
FAIT 1,340 975 46 24 1,045 78.0%
k |2z == =
f}%ﬁg‘ ERELEMER 359 291 17 7 315 87.7%
VNAYA 114 87 13 4 104 91.2%
3L 245 204 4 211 86.1%
HiEEE T £n
fﬂ%‘ ERIRERR 471 298 85 9 392 83.2%
VNAYA 167 78 65 2 145 86.8%
3L 304 220 20 7 247 81.3%
HiEEE T N
(*5”;%5%%&@@“" 1,013 852 42 13 907 89.5%
N3T 173 124 25 5 154 89.0%
3L 840 728 17 8 753 89.6%
MOEESEREE 75 48 5 2 55 73.3%
N3T 14 9 2 1 12 85.7%
FhIT 61 39 3 1 43 70.5%
HEEERA TS 18 16 0 0 16 88.9%
N3T 2 2 0 0 2 100.0%
FhIL 16 14 0 0 14 87.5%
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ﬁﬁg&*ﬁ?ﬂ] é*ﬁi& Eﬁ@*ﬁ*ﬂ UL‘*ﬁﬁ Eﬂﬂ%q:‘%l mﬁ&;ﬁ@*ﬁﬁ ﬁ'ﬂT}E’lb$
A B C D B+C+D=E E/A
A :!:E o §
*B’EZEBE &8 R 209 190 2 0 192 91.9%
NIT 3 2 0 2 66.7%
3L 206 188 190} 92.2%
A 2z = =7 =
RRESERERH 17 14 1 0 15 88.2%
(AFD)
N3T — — - — - —
FAIT 17 14 1 0 15 88.2%
i 2z =i ) =
BHEEERERR 185 152 3 8 163 88.1%
GEBFT)
N3T 33 27 2 2 31 93.9%
FAIT 152 125 1 6 132 86.8%
FBHETEENTIS 8 6 0 1 7 87.5%
N3T — — — — — —
FhIL 8 6 0 1 7 87.5%
Il 2 = = -
fgﬁ =8 R 93 86 0 0 86 92.5%
/NAYA 1 0 0 0.0%
FhIL 92 86 86 93.5%
HMBEE IR R 496 262 57 30 349 70.4%
NI 197 110 38 5 153 77.7%
AL 299 152 19 25 196 65.6%
MAEE RERERER 247 134 25 7 166 67.2%
VNAYA 158 86 21 5 112 70.9%
3L 89 48 4 2 54 60.7%
BA25H RIEER (AR 19 4 5 0 9 47.4%
N3T 8 0 2 0 2 25.0%
FASL 11 4 3 0 63.6%
BAOHRIEER Garm) 13 5 4 1 10 76.9%
N3T 7 3 1 1 71.4%
FAIT 6 2 3 0 5 83.3%
FRATRBEHRES
AR 139 66 19 11 96 69.1%
/NAYA 60 27 16 47 78.3%
FhIT 79 39 3 49 62.0%
~ =] =
BRAAT B B R 88 47 13 3 63 71.6%
GBFT)
NI 74 36 13 3 52 70.3%
FhIT 14 11 0 0 11 78.6%
BEELDBETRES 362 209 16 8 233 64.4%
/NAYA 98 46 13 3 62 63.3%
FAIL 264 163 3 5 171 64.8%
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A B C D B+C+D=E E/A
BELEEFTRGE)
EEEEERAR 41 35 2 1 38 92.7%
NIT 9 7 1 9 100.0%
3L 32 28 1 0 29 90.6%
RHEESERREXIE .
phsy 2 2 0 0 2 100.0%
NIT — — — — — —
FAAL 2 2 0 0 2 100.0%
2tk AR— L 152 142 0 0 142 93.4%
N3T 14 14 0 0 14 100.0%
FhIL 138 128 0 0 128 92.8%
i E IR A — 1,814 1,205 40 26 1,271 70.1%
N3T 363 262 16 4 282 77.7%
FAIT 1,451 943 24 22 989 68.2%
B AR—L 16 10 2 12 75.0%
NIT 5 2 1 3 60.0%
FhIL 11 8 1 9 81.8%
S | Xz r= |E ,-Q\A
LEEEREEEE 12 7 0 0 7 58.3%
o 3—
N3T 12 7 0 0 7 58.3%
FAIT — — — — - -
METMEESEAEEX
b A 107 80 1 2 83 77.6%
NI 15 9 1 0 10 66.7%
Fh3L 92 71 0 73 79.3%
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A B C D B+C+D=E E/A

ZREE 67,351 59,813 1,109 514 61,436 91.2%

NIL 9,154 7,071 433 208 7,712 84.2%

FAIT 58,197 52,742 676 306 53,724 92.3%

BEZAT—LA 1,322 805 130 26 961 72.7%

NIL 564 320 80 12 412 73.0%

FAIL 758 485 50 14 549 72.4%

SRIEEEATR—L 7,705 6,708 263 62 7,033 91.3%

NIT 605 484 41 7 532 87.9%

FAIL 7,100 6,224 222 55 6,501 91.6%

INSIEYEREEE A \

R n (5 B 20 A1) 363 359 0 0 359 98.9%

NV 15 14 0 14 93.3%

FAIT 348 345 0 345 99.1%

BEEANKR—L AR 338 151 56 12 219 64.8%

NIT 33 7 11 4 22 66.7%

FAIL 305 144 45 8 197 64.6%

BEEZATR—LBR) 31 2 14 45.2%

NIL 12 0 4 2 6 50.0%

FAIL 19 0 8 42.1%

BREANR—L(77 1,713 1,703 1 3 1,707 99.6%

INTDR)

NIL 39 38 39 100.0%

FAIL 1,674 1,665 0 1,668 99.6%

ffT'“’L_EXt“ 18,156 16,152 135 112 16,399 90.3%

NIT 1,699 1,606 14 22 1,642 96.6%

FhIT 16,457 14,546 121 90 14,757 89.7%

ZNERAFTIEER 5,135 4,735 83 27 4,845 94.4%

NIL 312 269 13 2 284 91.0%

FAIL 4823 4,466 70 25 4561 94.6%

nEZ ANMREEER 3,616 3,539 6 6 3,551 98.2%

NV 168 157 1 1 159 94.6%

AL , , , 4N

FhIT 3,448 3,382 5 5 3,392 98.4%

INRREBENEZARRE 0

HESE (2 B 20 A 21 F) 79 59 1 0 60 75.9%

NIT 6 4 0 4 66.7%

AYA e

FhIT 73 55 1 56 76.7%
INGIE SR RERI R E

PN 2,110 1,891 13 23 1,927 91.3%

NV 29 24 0 1 25 86.2%

FhIL 2,081 1,867 13 22 1,902 91.4%
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A B C D B+C+D=E E/A
INRIET T IND R (G
B0 A BT 172 167 0 0 167 97.1%
NIL 10 10 10} 100.0%
Fh3L 162 157 0 157 96.9%
REESEET IL—
e L1 10,140 9,572 23 25 9,620} 94.9%
NIT 143 131 2 1 134 93.7%
FAIL 9,997 9,441 21 24 9,486 94.9%
RENER ISR T A \
B 2,493 2,242 20 17 2,279 91.4%
NV 135 124 6 2 132 97.8%
FAT 2,358 2118 14 15 2,147 91.1%
NEEFH A 980 726 44 11 781 79.7%
NI 745 534 25 11 570} 76.5%
FAIL 235 192 19 0 211 89.8%
hig BIE X IR 2 — 3,335 2,748 69 72 2,889 86.6%
NIL 1,873 1,441 44 64 1,549 82.7%
FAIT 1,462 1,307 25 8 1,340] 91.7%
A P i .
B 75 65 1 0 66 88.0%
NIL 1 1 0 0 1 100.0%
FAIL 74 64 1 0 65 87.8%
HEZENDIR 532 526 1 0 527 99.1%
NV 343 338 0 0 338 98.5%
FAIT 189 188 1 0 189 100.0%
(%A;ﬁ)ﬁﬂtty - 1,369 722 126 57 905 66.1%
NIL 1,275 681 121 56 858 67.3%
Fh3L 94 41 5 1 47 50.0%
ZAEUtE2—
(R 222 143 21 3 167 75.2%
NV 217 140 21 164 75.6%
Fh3L 5 3 0 3 60.0%
ﬁﬁfﬁmt/ - 394 245 41 14 300] 76.1%
NIL 374 234 40 14 288 77.0%
FAIL 20 11 1 0 12 60.0%
EEEERER 69 61 0 1 62 89.9%
NIL 9 7 0 1 8 88.9%
FhII 60 54 0 0 54 90.0%
EANEZEEY
A—(EENEXIELY 2,447 2,280 26 14 2,320} 94.8%
B—)
NV 513 473 9 5 487 94.9%
AT 1,934 1,807 17 9 1,833 94.8%




& & D IAEE AN 3 - " = s
N SHE | maois | eois” | SER. (mEFORE| wHELCE
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AHEAR—L 4,555 4,211 40 27 4,278 93.9%
NV 34 34 0 0 34 100.0%
FAIL 4,521 4177 40 27 4,244 93.9%
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